‘er from the given

>SE ==IR]in_P
KWL : (B) FPKOL
J,;_,.-,"t"' : _@-—”PKLD
%V :12_x13::U>¢ B
o 2Ax 22 B) 24 x 26
e O 9xil ()~ 21 x 23
& S
g;i CFIL:XURO::ORUX:_?
B (A ROU (B)  RITO
i O LK O  MJFC
. 4 CHIL:ABCD: _? :WXYZ
B (A)  ZYXW (B) DCBA
(@) JHPS (B XURO

4 5.  Zoology : Animal::Psychology :_ ?

. ®  Animal

i ; Human-being

Ly 2 Animal and human-being

"D Pl

!' _‘T" Life starts : embryo: : Lifeends: __ 7

), Gldage, B Dead body
O ness ©  Deatn

‘ Man: Mammal :: _:

11.

il

13.

14.

15.

16.

17,

18.

(A) Frog ;
(@ Crab oy Fish
168 - 570
(A) 186-69 (B)
(© 1001-100 o) 5270- 2936
(A) (64, 216) ,ffB)/-/{Elﬁ, 02) E
(© (343, 01) ’P (125, 27) %
(A) Jammuand Kashmir
(B) Haryana i
(O Himachal Pradesh &
J;D}"' Arunachal Pradesh
@ TVer (8) VEENS
R (©) VEIDD
(A). 21T (FBT.»-' Y
057 D) 47
(A) 63852- B  Sheet
e D) 85362 p

(A)

(@]

Number (B}— Form
w s
e D) Size
: Commijse;

B) T




> R O U © 83 o 92 rrﬂ
R =4 23. AACBBDCCEDDFEEGF_? Directions : I question no. 31 from the giver al
() FG ® GH ﬁecf the word which cannot be ﬁmed using
. DG Ziven word.
A ©) 31. ‘CONSTITUTIONAL’ —
24.  RAZSBYTCX UDW VEV _? () PCATION ®) oy
XGX : 4
© e 32. If25+5=15,30+6=20,then35+7=_2
;Zﬁrecti;ns + Inn question no. 25 and 26, which one set of (A) 20 (B) 50 )
etlers when sequentially placed af the gavs in the given lett '
< it :grp gap. given letter /{9_,1-25 o 75
25, o Baicisad an ea 33.  1f33+45=30, 90 + 26 =40, then 30 +45=
(A)  babbd (B)  babbc (A) 14 B) 16
{0 —tacde (D)  babbb () 18 D) 15
26. NS
aa_aabb_b_aa_aa bb_bb. 34. It was Shriram’s and Sreedevi’s 12th Wﬁé ding
(A)  bbbba (B)  aabbb Anniversary. Shriram said “When we gﬂ
Ecﬁ:: Eabba D) bbbaa married, Smreedevi was 3/4" of my age, but no
N | w4 sheis 5/6% of my age”. What actually are thei
- IfDEAFisequal to 32, what willbe LEAF= ? present ages ?
(A) 48 B 50 Shriram 36, Sreedevi 30
Q. B2 D) 56 (B)  Shriram 30, Sreedevi 24
. Shri T
28. In a certain code, “CERTAIN” is coded R © riram 4[1]. Sreedevi 34
I};‘: IGZRM", “SEQUENCE" is coded as 0 Swwedev 32‘! i
“HVIFVMXV”. How would “ y .
ot u'd "BEQUIRED" be | 35. ?;5422— =5, 92+31=7, 25+11='
(A} VIFWIRV (B) wvRIFVI - 3
IVJFRIVWY g 22 o I Fr
- O~ NVIFRIVW D) FIvwvR
| ©Q 36
.. D) 1 i\
"‘" P ————— 2




ﬂWis-nmm&t? ¥
Statement I : MltEa.Ch-e‘I'é are a
Statement IT : Some women

Conclusion I1 : Some women are ageq

(A) y conclusion I follows
/BJ/g:y conclusion II follows -

(©) Neither conclusion] nor,ﬁ

(D)  Both conclusionIand II follow

i

Statement I : All skaters are good swimm .:_':'
Statement I : All good swimmers are runne

Conclusion I : Some runners are skatersh,-.
Conclusion IT : Some skaters are good swimm

2T Only conclusion ] follows
(B)  Only conclusion II follows

Sherly starting from a fixed point goes 15 m (©)  Both conclusion I and II follow

(]!° towards North and then after turning to his right D) Neither conclusion I nor I follow i
he goes 15m. Then he goes 10, 15 and 15 metres

after turning to his left each time. How far is h .-
i . f"’ - Bt If Alphabets are serially numbered, one of
from his starting point ’ P Y
answers given below has a meaningful
(A)  5metres —B" 10 metres hldd&&lﬂl& g\ tu‘y answer.

(© 20 metres (D) 15 metres (A) 5 1 3
ﬁq ve?

b5:3. 5,18

Ing in opposite

2nd Sham start ya; , §
t - "HCOVErs 6 kms and Sham 8 kms. EI 123., 5813, 5,?1

and walks 8 kms and Sham | c HME
g Skms. How far each is from 43. Wmmmdndmsﬂ,
e I' mdxh
- . w
ﬂkms ! .": .‘_‘ _ .:_ : T

e

i




ik, ‘i’ H -I: En giﬁi‘r ijhahetﬁ; one
. i e MDEX
XNFA.FERWLT D GHSC

CKQ]tDP\TRCQ]
DDIPTEMRABEFGNUNE

I
g e -
45. How many 9sare followed by and preceeded by
numbers divisibleby 2?
150683496526973729413794173
498453976153195 ?4_2_9_&853195?&&2151
BT ® 8
© 10 o) 12
46. From the givenanswer figures, select the one in
which the question figure is hidden/embedded

Question figure

b2

Answer figures

:
Ry A BAL | &
(A) | (B) }(;)/ D)

Directions : In question no. 47, which answer figure will
complete the question figure 7

47.  Question figure

Answer figures

N7
s

(D)

48. A squa

%+ Question figure

d as shown below.

ot from amongst the

?
it will appear when opened !

placed on the

Directions : In question no. 49, ifa mirror is _
line MIN,, then which of the answer figures is the right image
of the given figure ?

49.  Question figure

Y

Answer figures

WL

(A) (B)

SPACE FOR ROUGH WORK




Directions ; (Question No. 50) A word is represented by
only one set of muntbers as given inany o1 of the alternafives.
The sets of numbers given in the alternatives are ep resented
by two classes of alphabets as in two matrices given below.
The columns and rows of Matrix laret! umbered from 0 fo 4
and that of Matrix IT are numbered from 5 to 9. A letter from
these matrices can be represented first by its row and next by
its column, e.g., ‘T can be represen ted by 31, 76 elc. and ‘5’
can be represented by 14, 99, etc. Sfrltihlf;r'l']_-', you have to
identify the set for the word STAR.

50. Matrix -1
EraENER B
T | ] e C
IR [0 N][G]| 3|
s | B | 8.1
o |1 A s 8 e o LR
e iNeE | P
Matrix - IT
5 B 7 5 g
5 R |EENEE MY G
SR IR | E | S
Z i e | O N
ey | C | O |
ool s R | S

(A) 23,76,33,98 Qﬁ
(B~ 14,87,98, 97
Q) 69,9603, 56>.

(D) 99, 31,86,98

—

ANDICAPPED

LY

YATES ONLY.

Ravi got 8 marks less
nd Amit got 5 marks more.
Ravi secured 2 marks
marks did Ravi

In an examination
80% of total marks a
than 70% of total marks.
more than Amit. How many

secure ?
(A) 220 (B) 120
@ 112 (D) 96

estion no. 47, from the given alternatives

Directions : [ q1
ch cannot be formed using the letters

select the word whi
given in the ot
47, CORRESPONDENT

(A) DESPAR ATE (B) CORE
(© RESPOND {1 PONDER

Directions : [n question no 48 and 49, select the missing

number/ letters from the givern responses.
48. "L 8, 33,148, 1P
(A) 265 B) 465
(@ 565 (D) 765
49. BRGT O 2
(A) OP (B) LN
© NM ©) MN
50.  ZHYG:XFWI::?: UCTBE
(&) WEVD (B) WEFYE
(O DEVW Dy VDUC 2

—



v

(©Q . TheParliamen’ = High Courts
®) Both Supreme locating submerged
52. An apparatus used for locating
objects is known as:
(A) radar sonar
P © pulsar
53. Near which one of the following cities, the
Palitana Temples are situated ?
(A) Bhav Nagar (B) Mount Abu
(O Mearke (D)  Ujjain i
54. Main cause for agitations for separate states in
India is
(A) regionalism
B~ growing regional imbalances
(C) people’s political consciousness
(D)  social inequalities
55. Law of 'Use and disuse’ was proposed by :
(A) HugoDe Vries (B)  Lederberg
(O Lamarck (D) Darwin
56.  Which revenue earned by Union Government is
not djstributed among State Governments ?
Excise duty (B) Income tax
(©  Customsduty (D)  None of these
57.  Thesubstance that causes the worst air pollution
is
(A)  smoke
(B)  sulphur dioxide
(C) _ carbon dioxide
AB]/W 0on monoxide
Two bod

58. . the same mass anz thrown with

from the top of a t
- ..m f ower

{Mnm ik

60.

61.

62.

63.

64.

65.

' The rocket whic

59,

- Marsjs: . (‘B) .;-.-_ .,;_I-'-'-___.
\ Cassinie )
Insat 4 D) Aﬂgsﬁﬁ Y
BC stands for . ey WO
]{E] Java Data Base Conduct_iwtj" s
(B) JavaDeveloper Cm'mec_ﬂ'if’it}? - S
&y Java Database Connectivity
(D) Java Developing Connectivity m o
Choose the correct one from am €
following
(A) Siksha - astrology {
(B) nirukta - metre .
()  jyotisha = phonetics -
vyakarana - grammar

The famous book “ A Better India, A better world”

has been written by :

(A) Rajiv Sikri

(B) AzimPrem]Ji

(C) N.R.Narayana Murthy

(D) Praveen Mahapatra

The world’s fastest growing water plant is

(A)  Water Chestnut

(B) Amazon water lily

(C)  Water hyacinth

(D) Utricularia

The International agreement to reduc

greenhouse gases between 2008 - 2012 is know

as :
(A)  Agenda 21 (B)  Rule

A€ Rio Protocol (D) Ky

Which of the following has recmv‘rrﬂkr

the first cloned camel ?
U.S A.
(© IRAN




68. Whois the first Law Officer

dﬁw"f

India ? .
(A)  The Chief Justice of India
(B) Law Secretary
(O  Union Law Minister
Attorney General of India
69. “Milk of magnesiat is a suspension of
(A)  Magnesium sulphate
(B)  Magnesium carbonate
Gy~ Magnesium hydroxide
D) Magnesium chloride
70.  Ifall the plants of the world dies, all the animals
would also die due to shortage of
(A)  Shelter B  Coldair
(© Food _([O)~ Oxygen
71. A person opens his mouth on hearing a thunder
in order to
(A)  overcome fear
’@/ equalise pressure of air on both sides of
the ear drum
(©Q  receive moresound
(D)  allow air to come out of the mouth
72.  “ElNino effect’ is closely associated with
@-j"- Gulf current
(B)  Humboldtcurrent
(O  Equatorial counter current
(D) Canaries current
73.  If a bacterium cel] divides i i
~ how many bacteria will bff;*;‘éﬁ'?;ii? ey
148 @ 4 ® 16 |
L1, 70 AChass A8 64
74.

79.

80.

81.

82.

r w.

is 1S
jical name of Plaster e

;um sulphate
A)  Calcium SWP™
EB)} Hydrated calcium carbonate
Jcium hydrate
oy Gl hate hemihydrate

Who was the first envoy of the E;s:
Company to meet Jahangirin 1608 A.D ¢

(A~ William Hawkins
(B) William Edwards
(O  Sir Thomas Roe
(D) Edward Terry
Carbohydrates are compounds of
(A) Carbonand hydrogen
_(B)—" Carbon, oxygen and hydrogen
(©Q  Carbon, nitrogen and hydrogen
(D) Carbon and nitrogen
The growth of bacteria is measured by
(A) auxanometer
B~ hemacytometer
(©  spectrophotometer
(D) calorimeter

A government is classified as federal or unita
on the basis of

A4} Relations between the centre and states
(B)  Relations between the executive and t}

legislature
© Relations b

ge = etween three organs
(D) None of the aboye oy s
‘EVM' stands g

(A) Elecm.:vendingw" AP

(B)  Electronic Vendjng Machine ¥ 4
_,g—- Electronic Voting Machine ,; "




87.  Thetributary of River Indus which flows through
Himachal Pradesh is
(A) Hunza (B) Sutlej
(© Beas D) Ravi
88. Which one of the following is an essential
ingredient of parliamentary government ?
A written constitution
(B) A rigid constitution
(Q  Political parties
= (D) Anlndependentjudiriary

g Monopolies and Trade Practices
- s it mns]}r matched ?

il S

i

Q0 of Cancer - 23¢° N latitude

(ii)r Tropicof Capricorn-66¥:"N latitude
(iii) International Date line - 0° longitude

(iv) Antarctic Circle - 6612 S latitude
(A

BT (ii) and (iii)
(© (i) (i) and (iv)

(D)  None of these

Throu hi ¢
ﬂuwg.?gh which states does the river Chambal

~1A&— UP,MP, Rajasthan
(B)  MP,Gujarat, U.p,
© Rajasthan, M.P,, Bihar
(D) Gujarat, M.p w Chhatﬁsgarh

The contents of :
the power goe me;mq, will not be lost, when

96,

97.

98,

93.

95.

The i
a]]thediitridsﬂfmemm b .
() NavodayVidya®e
() RajivGandhi Granud
(© SarvaShiksha Abhiyan
M.G.N.R. E. G. Programme .
Which one of the following Cricketers
declared by the ICC as ‘Cricketer of the Twe
Century’?
(A)  Anil Kumble
By Sachin Tendulkar o -
(© Kapil Dev
(D) Rahul Dravid :
As per the 2011 population census, the most
populous state in the country is
(A) Rajasthan
(B) Madhya Pradesh
A=) ” Uttar Pradesh
(D)  West Bengal
Which one of the following is not an internal
factor for industrial sickness ? i
(A)
(B) Diversion of funds
._{E}'_'_LIIE'L'J'!I‘IL'IJUQEFJ] Obsolescence
D) Wrong dividend policy
Vikramshila University w

i

-

i

LY

Mismanagement

as founded b

(A) Chan {
s Kanisil:acupta g

(©) Dharampala
D)  Pulakesin [t
Acidity of rain js Measured by
(A)  Barometer ol
@  Ammeter o 8
E::d“;hn:h one of the fnﬂcwing, a.re _




101.
;

3

8o

PART - C
B QUANTITATIVE APTITUDE

day, Tuesday
i ““?ﬁ;fﬂ?:m:%fnﬂ?:at cjf “[uw}dﬂl‘_r';
:\-rfl:d‘::sdty anj:'] Thursday wa: ::BC Lt'h;n :|::
temperature on Monday "'"'351‘2 { Si
temperature on Thursday Was-

31°C
) 30°C B T
© 32cC e

A watch is sold at a ]::rcfit of 30%. Had it be en
sold for 2 80 less, there would have been a loss of
10%. What is the cost price in rupees ?

g Ay 200 (B) 400
(O 800 Oy 150
103. The mean of 19 observation is 24. If the mean of

the first 10 observations 15 17 and that of the last
10 observations is 24, find the 10' observation.
(A) 37 B) 46
© 53 D) 65

R_a nd r are the radius of two circles (R>1). If the
distance between the centre of the two circles be

1:.:1* then length of common tangent of two circles
is :

A)  Jd? -R-1p? !
B JR-1?-a?
©

105.

106.

107.

108.

109.

- the n
. of 10% is GIVEITOR
If a commisSiON L lisher gains 20%

ce of a work, ; ‘
E.::-.:iq;iun s increased to 15%, the gain pei‘cl

15 ©
1
3%
() 1637 B Fra
: 151 (D) 15%
t{} L)
If (522 — 3y*) : xy =11 - 2, then the positive valu
of x/yis:
(A)  5/2 B) 3/2
& 5/3 Dy "ria

A boy standing in the middle of a field, observe
a flying bird in the north at an angle of elevatio
of 307 and after 2 minutes, he observes the sam
bird in the south at an angle of elevation of 60°. |
the bird flies all along in a straight line at a heigh

of 50 ,/3 m, then its speed in km/his:

{A) 3 fB} 9
&6 D) 45
By sellin

89 articles for a rupee, a man i

loss of4%, Tq make - C
; : a gain of -
articles to be so1d fora rupee‘::?" the g

A 3




- centre 0.CDis
:ﬁe circle. ACand
p, Then the measure

® o
D) 120°
4 cosecla +9 sin*a is

112. The least value of 4 oS #

: (A 10 4 14
=1 )

113. The perimeter of an isosceles right-a ”_1:1:‘]*1
triangle is 2p unit. The area of the same traingle
is:

(A) (2+ 2 )p*sq. unit

B (- y2)p?sq. unit

© (- v2)p*sq. unit
_©-3-22)p%sq. unit

114. 1fGis the centroid of AABC and AG=BC, then
ZBGCis ;

(A) 45° ® 90°
© 60° O 75
115. Prabhat took a certain amount as a loan from a
bank at the rate of 8% P-a. simple interest and
3 gave the same amount to Ashich as a loan at the
. mﬁaof‘u% ga. lff!t the end of 12 years, he made
B: z, a pruﬁ:if“:ﬂﬁn in the deal, then the original
(A) : 1000 (B) % 2000
il
e © 00 D) ¥ 3356

e a anglec
B —% ._: right-ang] B'e ABC, /B js the right

AB=BC=2cm, then

120.

121,

118.

119.

122- TIE _—-l_q. +

© 15

Iftan(x + ) tan(x — y) =1, then the value o€

is :

(A) 1 ® 1/2 :

0L

i 17 ;

© /5 D) 3

Ifax + by =6, bx —ay=2and x>+ y*=4, then

value of (a2 + b?) would be :

(A) 2 B

© 5 ©) 10

The perimeters of two similar triangles A ,

and APQR are 36 cm and 24 em respectively. |

PQ=10cm, then AB s : b

(A) 10cm (B) 15em

{C] 20 CITi {DJ 25cm

Pisa point

. Outside a circle and is 13 cm n
fromits centre. A secant drawn from the poi
Intersects the circle at points A and B in su

Way ﬂ'latPA=9-‘:m and AB= ;
of thlictvaiens B ?I:m.l .

(A)
©

S5em

45¢cm

% % it & e
term of the serjps
- k- N ) s

E 1 M I';'.
s i 3 A L
i w LS 214

"




e S T B
3!

4 15? Y1) t

_ e %1 LA gk E-qﬁ]l,l& ’;.t.
it & @l “-L 130. lf.'l Hiﬁ' ﬁ-’ﬂ‘mth g
e @ 3 () 6 e
124. The hat will divide 19,35 and 59 to O 6 O B k
leave the same remainder in each case is
MUE [ B W @ 7 ¥
o) 9 131. A jarcontainsa mixture of t;vﬂ :j?hUids A
i io 4 : 10 It of the mix
125. IfcotA+cosecA= i e in the ratio 4 : 1. When : -.
the value of mmi.andﬁmanacu s HED replaced with liquid B, the ratio becomes 2 : 3,
(A) 1 i B 1/2 The volume of liquid A present in the jar earli
Q. 34 D) 4/5 s 1
126. The area of the largest triangle that can be (A) 101t B) 161t
ﬁ?:?d in a semi circle of radius x in square L D) 201t
(A)  x? ® 222
0 3x2 O 422 132, :":ﬂ'&ﬂ of the triangle formed by the graph of the
e ?x— 3y+6=0 along with the coordinate
127. Ifa=ﬁ__£ b=\f§+ﬁ i axesis:
1 T =11
3+.2 B-32 e value AR i - ;
il (G °q- U
i e ERatin
(A) 970
(B) 1030 133. If s 5
B3 is a
. © 0 ; O 900 zsim_l_,lSCUSzuP;;l:]l-lVE acute ang]E and
Fl 1 ﬂ'l-& Va].ue Df coto *
/) " a+3 U thenthe value of I
B ¥ BF A ESE J,r'3, ':'B] ﬁ
fa+2)?® + 1 _ 3
(a+2)7 Is:
Fa 1
3




capital for 1 fthe total time and C, the rest of
* .
the capital for the whole time. Out of 2 profit of

¥ 19,400, B's share is :
(A) 1200 (B) T 1600
(© T 1800 (D) <2000

136. Area of the trapezium formed by x-axis; y-axis

and the lines 3x + 4y =12 and 6x +8y=060 is :

(A) (B)
© )

31.5 5q. unit 48 5q. unit

36.5 5q. unit 37.5 sq. unit

A train overtakes two persons who are walking
in the same direction in which the train is
running, at the rate of 2 kmph and 4 kmph and
passes them completely in 9 and 10 seconds
pectively. The length of the train (in metres)

is
(A) 45

50

(B)

138, AABC mdmﬂt'EE' ’
3 =F' are similar ang
et

o Sea

d a—b=% then the
§oli 0 W AN
(a2+Db?) s ® 20 o
-12 o
W o 1008
19 =a and cosd —~sind =b,.
141, If @nd 280 h2—1)is:
value of (@~ 2
ol (B)
(D)
@ 3
fa+ 1 1 then the value of a%is: {Q'T'E
142. 1 5. ! ]
(A) 2 (B) . &4
(o) o O -2
143. D and E are the mid-points of AB and AC
AABC; BCis produced to any point P; DE, DP.
and EP are joined. Then, ]
(A} APED=ABEC
(B) AADE=ABEC
(©  ABDE=ABEC

(©)  APED= 2 aaBC

144, The length of the co
3 mime s
Iﬂ.dll 15 cm EIIId 2{] e wl;'lg};&ord Uftwg Cuﬂes f
apartis (in cm) ; Centres are 25 cm
(A) 24
o rg 2.
value of tang gy - 0-COS6 =

.-_|:l




- m-u.“k‘f' ”"3‘!? MOBSNL (%
£t “q
B ot i o [] Airtel
187 o b ¥
%1? - B [ 3] Aircell
ST m ke :
ok | - x fl/q/F'TI
14 A ] -
E“”"' e 2 i
512' = :. l:|
=11 “ : . .|
g 10 + |l - 111V
ot llll : ‘
8 1 xa . Hillk  |s
= 74 (il + il
SoTil B | g L | R
. LH : ard | =
E 3 - . { ;._|:;§
2+ [l fe ¥ =0 W
1+ 4 k- e I 1
Gujarat Tamil Nadu Assam ~ Kerala

146. The range of BSNL simcard sold in the 4 states in
lakhs is : :

(AIRME B A g 1
L T&#"m%afﬁ 12
" Aircellsimeard and Airtel

150.

147.

148.

149.

An arc of a circle of radius 412:;:1m:u=b;2 :
angle of 15° at thle centre. TakKing

length of the arc1s:
(A) 1lcm

(©) 44/5cm

12 cm
(D) 88/5cm

In aschool, 10% of the boys are same in numbe
as 1/4 of the girls. What is the ratio of boys t
girls in that school ?

(Ay 3:2 (B) o

(e K | (D) 4:3

Train A of length 180 m and speed 72 km/hou
crosses train B of length 120 m and spee

108 km/hour moving in the opposite directios
mn:

(A) 24 seconds (B)
(O 6 seconds (D)

and the rate of depmciaﬁnniﬁ‘:'l_di;-*% y .
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frhe
5, gm pm’tqﬂ
L alternatt
fm rfrmﬂi’ l alternative out @

art ﬂsmlmcﬁhﬂﬁﬂl‘l ﬂ‘ﬂ:lf ”‘n '#{']'1*1’1]“ e
Wogpﬂﬂdmg totheappropri'® . {A}icj'orrfﬂlln:zd ng | appropr inte rect™8

s ﬂ'f‘E L Hggsb

the rectangle o didn't ——
lsfmej‘romermr,hlﬂm 156. We¢ succe
to (D) in the Answer Sheet, g L e ) a huge
151 I:iians:iﬂlﬂiﬁ g;ejgmwa_}_’f LIJEE%{—E—EE ; (A) aCCE‘P"‘
. ®) MEXPE{‘{-
A) ! No Error ; about mj
any other scientist i the world/ No Erot i N0 —
O} 157, 1 suffer fron :
Q ' :'..'-1p.abilities, ,kﬁf doubts
. ] = iy (A) j'!luﬁlﬂTﬁ . D) imaginatiﬂﬂﬁ
152. Belgiun chocolate1s COMEREE= l (©) hallucinations (L
(A)
=q ; . o 2 bid to make Bihar, @
bymgﬂnbefiz@:f 158. The gmommmt in a bic O naeE o
}'!-ri_fr;l']"['[j investment des in '
B S M e __ major schemes toO create
than any others in the World / noerror inf (rastructure at different stages.
(@] (D) /H(f launched  (B) nppo&-ed
(C)  opened (D)  pushed
153. m@@m_ﬂaﬁj ;iggacre /of wetland /
(A) (©) 159. The student’s aren’t prepared ______ the
Noerror examination.
M (A) togive B 40 ligte
(©) towork /Q]a)’” ol
154. Qur history can be seen as a long evolutionary | 160. We should _ « T ‘
" 2 evelopment / arise. ————— OPportunities as th'é'i
2 ;i @ 1 M seize (B) - - T ‘
. inwhich there have been / © size s asey o
g [ B ; ) SI‘lEezg
. Directions : In guestio ¢
1 no. 161 '
nonal and moral se ali‘ehﬂ:ﬁﬁm: choose monmﬁiﬂhﬁﬂst: 155{
= EN 8%}
of the gt Wmﬂﬂndmark;nnm g
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181. One indifferent toartand literature 1s
(A) aromantic critic
(), philistine (O) scholar
182, 'amto injury or Criticism”.
& Invincible (8) Vulnerable
(C) Naive (D) Sensitive
183. Government by a small group of all powerful
persons
ol Oligarchy (B) Monarchy
(O  democracy (D)  Anarchy

184, A narrow piece of land connecting two large

masses of land
peninsula ,{B{f isthmus
f(__} continent D) gulf

185. One who collects coins as a hobby
(A)  philatelist (B)

(C) statistician

ornithologist
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Directions : In question no. 186 to 190, there are four
different words out of which one is correct! yspelt. F ind the
cnnzcﬂgfr spelt word and indicate it by blackening the
appropriate rectangle (wmf in the Answer Sheet
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Pass - [ Question : 3
S If this is s0, if toread a book as it should be

) ima i ﬁm
J calls for the rarest Qualities of . g::_mp .
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insight and judgement. You ma

conclude that literature is a very complex art and p
that it is unlikely that we shall be able, 'e'-*f.'lnmfla!!fl‘I
a life time of reading, to make any valuab!r% ;
contribution to its criticism. We must ,rl?@ﬂm_
readers, we shall not put on _the_f_urthel' glory
that belongs to those rare bei nEs who are also
critics.
What are the Qualities required for reading a
book ?
(A) properjudgement
(B) imagination
A<y~ imagination, insight and judgement
(D)  none of the above

According to the author

‘L&}"'Mos.t of the people can contribute to
criticism of literature

(B)  Itis not possible for most of us to contribute
anything for criticism
(C)  TItis possible to do so mething

191.
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(D)  Itisnoteven easy to understand literature
193. Whatis th ini |
" ?r: opinion of most of the people about
E} That it is very €asy to understand
) That it is not an eas i '
i Y one to contribute "

{ hat it is to0 5
ome g :
fg,f'?l'n s xtent d

T

@) " That no contribus: Sk
= rlblltlﬂn o T
literature isn —

fes




Lo S - T P . I e B
"

3 ' L L
) s e
. .

#-ummmﬁ

Protecting the

the oceans areill. health of coastal

waters is now a matter of national policy in
dozens of countries including the U.S., and
world leaders are beginning 10 F"reficnbe .
mluﬁmmy&utcmﬂahumsltﬁ have
been promoting for years: marine planning and
zoning,.

The idea is a natural extension of
management policies that have guided the
development of cities and landscapes for nearly
a century. Zoning advocates envision a mosaic
of regional maps in which every watery space
on the planet is designated for a particular
purpose. Drilling and mining would be allowed
only in certain parts of the ocean; fishing in
others. The most critically threatened areas
would be virtually off-limits.

Whereas people can easily find maps
telling them what they can do where onland, the
marine realm is a hodge-podge of rules
emanating from an army of agencies, each one
managing a single use or symptom.

196. Seazoning is all about

(A) “dividing watery space for specific
purposes

(B)  drilling and sea mining
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o
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(A everytidy agrees
(B)  mostof the politicians agree
(O all politicians agree

(D)~ Tiobody agrees

‘Conservationist’ means

(A)

(B) amarine engineer

200.

a proficient speaker

() onewho looks after others

p}/::ne who prevents something from
destruction

-olo-




	DSC00781.pdf
	DSC00782.pdf
	DSC00783.pdf
	DSC00784.pdf
	DSC00785.pdf
	DSC00786.pdf
	DSC00787.pdf
	DSC00788.pdf
	DSC00789.pdf
	DSC00790.pdf
	DSC00791.pdf
	DSC00792.pdf
	DSC00793.pdf
	DSC00794.pdf
	DSC00795.pdf
	DSC00796.pdf

